ESTRUCTURA : APOYA PIE / GUARDABARRO TRASERO

APOYA PIE / GUARDABARRO TRASERO

Rating: Not Rated Yet
Price:

Variant price modifier:
Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:

Discount:

Tax amount:

Ask a guestion about this product

Description Ref. Titulo

Cdédigo

1 Tornillo
M8*20

20-80340

2 Tuerca M8

20-80385

3 Soporte de
proteccion
de
apoyapies
izq. 1

4 Soporte de
proteccion
de
apoyapies
izg. 2

5 Tuerca M6

20-80380

6 Tornillo
M6*20

20-80470

7 Buje

1/


https://cprrepuestos.com.ar/images/stories/virtuemart/product/apoya pie - guardabarro trasero8.jpg

ESTRUCTURA :

APOYA PI E / GUARDABARRO TRASERO

Ref.

Titulo

| cédigo

8

Cubierta de
apoyapies
der.

Soporte de
proteccion
de
apoyapies
der. 2

10

Soporte de
proteccion
de
apoyapies
der. 1

11

Cubierta de
apoyapies
izq.

12

Tornillo
M5*16

13

Tornillo
M8*20

20-80340

14

Apoyapies
derecho

15

Anillo de
apoyapies
der.

16

Resorte de
retorno de
pedal de
freno

17

Resorte de
freno
trasero

18

Arandela

19

Anillo
seeger

20

Apoyapies
izquierdo

21

Tornillo M1
0*1.25*25

20-80270

2/


http://www.tcpdf.org

